Name: [eyv PreAlgebra — Semester Test  12/14/2016
1) For the follrowing expression: 3 * 3
a) Write it using exponents 3
b) How do you say it with an exponent? 3 5% waree
c) What is the second way of saying it? 3 +o }he S& C'mt/ prene=

2) Given: 15x — 7 + 20x fill in the following table.
Terms: | Coefficients: | Constant Terms: | Like Terms: | Simplify the expression:

5% -7, 20x |_185dp -7 ISy, d0x S5x-7
3) Match the following equations with the properties they represent.
K asxb=b+a A) Distributive Property
{ 1+x=x B) Commutative Property of Multiplication
{ab)x = a(bx) C) Identity Property of Multiplication
A alb+c)=ab+ac D) Associative Property of Multiplication

4) Write an inequality for the following graphs.
a) b)

X&lp 10 7 X277
5) Find the GCF of the following numbers. Y= 22 .
PP - T CF- 4
93228 AN (patag) [DASS0 gl GCF=3
WA 7

6) Solve the following inequalities for the given variable and graph your answers if you can, Be
sure 1o show all your work!!! Leave your answers int the simplest fraction form.

a)—1—5x > —3x — 2x ey | b)yS(x+2)+1<7—5x Dyt +l &7 -5X
A 5™ ’ w %ﬂ@—'—"’) EXFnH £ 7-5x
7) Write the following in words. | Y- o e
)5 =3 S Lims . b2 * (x —7) i
S— e X 3 ). "'{r'fnes +he Gfri'FFén:dce_ wp- EOX-H, 4"7

. ) =t~
8) Find the change in temperature, elevation, and speed. x anl 7. I Zy

a) From 10°F to — 11°F - | b) From 120ft to 1200t (
=i =10 :@@ 12.00-120 = @8y {F N “
X &=
5

9) Evaluate the following absolute values:
-4y [ by 1-11+9
}—! ‘1"?
10) Simplity the following expressions by combining like terms.

aysx+10y+7y—12x  _o7, 4 by —2x + 11 + 10x o
P P N /X +17y | X +if

11} Use the graph to plot and label the points:
A(—1,5) B(2,-3) €(0,2) D(4,3) See  avsuer Fage

12) What quadrant is each letter in?

a) T b [IZ ©) 8, Tew d) I



13) Find the difference of the following expressions:

)-5-3  —g I-3+(9) &

14} You have a rectangle with a length of 15 ft and width of x ft. :j
a) Draw a picture to represent this. X
e

b) If you need the area to be 45 ft2, what does x have to be?

1ICXx=45
15) Evaluate the expression when g = —5and b =7
~Sab1l g b) al(b — a)? + 5] \
A c ~ J -y >

,_5‘,[(?— i ﬁl H"j
16) Solve the following equations. =-Sflyi 1] = —5( 19 2 —
a)4x — 20 £ 16 byZ+30 £ 25 7 LL#t+5] ¢ /‘? 75
7y xR S X="20
Trans!ateL{he following into equations: Write the following in words.
a) The quotient of 12 and y is 15 % =i [Qll+x=4 fl. plus X /s ¥
b) The sum of 5 and x is 20 d)20x = 10 . ; .

o Femel i
X+5=20 e X5

18) Solve the following inequalities for the given variable and graph your answers. Be sure to
show all your work!

a)x—53% 12 G |§y§<1111 3 X £3333 G
e t7 3323
19} Evaluate the following expressions for a = 10 and b = —5.

a) g+ (~23) :@ | b)y?‘“{c; €D
20) Write the following in words. Do NOT solve it. .
99x41<=6 ID6+iz—a 6 phs & diided bys
A Hoeg  x phe 1 less ceade o
21) Write the p:i'{imi factorization of each of the following. Jreates thaq Cpuns T~y
a) 63 < 33,7 Ipy120= 3%37.8

. —H‘Mfi' '—é-

22) a) What are the two things required to have like terms? The same _€Xpeq eqfand
!1-: 'HE/
b) The letter in an equation is always the _ i@ ~dubl< .

23) Solve the following equations. Be sure to show all your work!
2) 6(x +7) — 4 =14 |{x_"6=16,y
5

Lx+4L -y=iy
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Name: K@/ _
.\tlfﬁ,‘!!?e{;’i{l'esttl(lhru 4.5) {gt‘z hﬂw)
1/31/2016

1} Fill in the blanks:

a) Quactient Rule: When dividing with the same

Sl cf the l'i')ﬁ/"(/ﬂ(.-r‘ffj .

M, you keep the base and

b) Progduct Rule: When multiplying with the same buce . You keep the base and

%p&? the CXPrLa S

¢) “Power to a power, you __ usiyifiyz/,  the exponents”
LY

2)

a) If do you do not see an exponent on the base, then you assume it is , (Think x?)

b) Anything with an exponent of zero is

. (Think x°)

¢) If something has a e «f%¢ exponent, then you have to reciprocate it.

3) Fill in the blanks for the LCM and GCF chart: LEM GCF

A)Keep all the bases and the Wisherk exponents.

B) Fecls- all the terms and numbers.

C) Keep only the common I?q s¢$ and the )&’we)'zL.

exponents.

4) Multiply/divide the following expressions.
a) 3x7° + 14x%1 7
Y X

c) 5x 7+ 10x71?

~ A 5¢
Sox™ = 2y

5) Find the LCM of the following numbers

3
b) 21x%y7 * 3xy* é 3 X’jé’ i iz’g'
4 A
d) 6x8 = 8x~% * 4x5
17057
I.{ 3,'"\::: 3 J\.}“

a) 32,28 3;5:%5 //‘5q ¢} 45,50 o) = 2.5
£ -3 . U= A _
wer /) L o)

b)14,21,28 TBE
'..d‘\._

Al =37
ag=)nT

237 2[y1)

d)4,13,24

) e
i3=1%
ay=2%3

i ~

25341 "

29 $e13 22

7

(=7



3 2 327 3 '%/?Uf 7i 4
-7 77 / i -2 :
7 AL X3 2.3
6) Write the fractions in simplest form. Tell whether they are equivalent. =7
L a)- 218 lb) 16 28 7
@ 46735 yes 48’36 ne,
Use ¢ LCD to determine which fraction is gregte —y R
O b’ V16 /14 ,,j 30,_1}) gd?wm {0 ,15-,2:&"
: 2506 (o ;15“"-.;-?5"5“ 13"’/" i’-_f._{_i

8) Write the prlrne factorization of each of the followmg ﬁﬁﬁ'}bers

ay124 — b)63 -~
,.2‘5 34 7
Og

)25 =g+ dy46 =3.22

9) Divide the following expressions. Write your answers with positive exponents

& [ by 20 Gx%

N by =L
& - Rl
x7y8 . x%y? .
Vs L S 8
" ys
10) Find the LCM of the following monomials 5"‘“19 2
&) 14x3,42x* {4 )_7;(3 b) 8x% 11 ,,;”X -
0) 12x,6x%,92° [)=a3 x d)64x*, 24x2 g =05 x*

Y

- X 5 ¢
1:3,?;;]»( 2'3){" ETNE A4 =2 )’x%,;.xh@

11) Simplify the foliowig; expressions. Write your answers with positive exponents.

a) (x~>y®)’ 2 b) (3x*y~*)™* 20
@ L b2y
c) (x*y=2)=> s d) 14°
DA f

K.l&
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Name: h-e.-/ 2/21/2017 PreAlgebra — Test 55~

1) Fill in the blanks
a) Quotient Rule: When dividing with the same %’g , you keep the base and
Scrfraef-the citeats:

b) P:?duct Rule: When multiplying with the same /2 ¢ , you keep the base and
g the 22X s

c) “Power to a power, you ymulizly  the exponents”
e

2)
a) If you do not see an exponent on the base, then you assume it is { (Think x?)
b) Anything with an exponent of zero is l . (Think x%)

. 1 ﬁ}i?fci/(_ . .
¢) If something has a &g *_exponent, then you have to reciprocate it

3) Fill in the blanks for the questions you should ask/answer yourself when converting units.
1) Where are you ?

2) Where are you gﬁdz 7

3) ﬂ'ﬁQm/_’ are you going to get there?
a) Whichoneis _p wpe— 7 (Talways gets a { )
b) The smaller one gets the jg; on the line.

4) Simplity the following and wrlte your answer m scientific notati
2 « 104 -14
31004 | 349 1o b) (42.3 3) 10 ) 623 10 )

X = rsx o’
) (105 <1092 5% dy(7.54 = 10*@; 10%)
2601 Ko” = 260! 1 10¥F

5) Give the name of the following units.
A dect joule Bk ki e

c)mg V'l“l..f:”[.?r-’iw D hL bl [ifem
6) Give the abbreviation of the following units.
a) picowatt FW b) centimeter £ 4

¢} microsecond %5 d) millijoule m )



7) One Step Conversions

a)0.0723 kJ to J b) 445 s to ms
72X a6k (G D : oY Xio™ } (0, s
I kY { | < = ?r%’f‘-'\’(a.)m;_
c)152ugtog d) 9368 m to Mm '

V’Z/{_&;—; _ s 9. 265 Xto M,

8) Two Step Conversions

a) 936800 dm to Mm b) 587.1 Mgto ug
s L I G2 e
¢) 319000 cL to ML d) 0.4744 nJ 1o pJ
34505 Ll 1A - q7yxeh 3] | Ty
. X o 7YY
o e S I % L7

9) Basic Conversmns

7 « .
a) 28. 680t4» galﬂf-[ 1! oaf b) 263500 weeks tp days " P
- —_ ; S‘ -
(;l 1T 1479% [ ( weets LgysHioid,,
¢) 0.004279 g olbsa; d)03694mt :
34 IJG;GZ { ""’7,25-1{0”' !u o {21288

10) Write the following in scientific notation.

1234 | 2y x10° b) 9876000 & Ly i

c)0.06543 = -3 d) 0.003985 3
AR 2.995 X{o

11) Write the following in standard form:

a)3.54=107° o OO0 3Y b) 5.78 = 10° &g o

¢) 6.89 = 10° d)9.72 = 1073

¢ 99000 JO0T7A,



Name: K</, 3/21/2017

3 Slaf “‘/

PreAlgebra (5" Hour) — Test 6

1) Use the map below to answer the following questions.

w P : 5 o :

1 = SearchGoogle Maps - Q ¢ ‘

._ \

a4 John :':'E_'- . (@
L & -

\\ e RI\:‘::‘;;"S
(&

{
St Hlaire
o

!

Iy
Forks AFB Gran:’i Fotks

(:ﬁxgg,aléﬂemnh _
l Mapdataﬁzmbﬁnogm Tema Pdvacy Send 'ZUIITﬂ'
Ly ¥ L
a) How far is Carrington from Jamestown?@ — T
20 X
b) Taking i94 and 29 north, how far is it from Valley City to I
X
¢) How far is Finley from Mayville? 14 . L&
, 2o
d) How far is it to fTy Trom Tappen to Devilg [ ake? E_i - ._2
20 T X
!

¢) Taking 29 South, how far is Grand Foiks from Tower City? ___7 (4

» X

f) If you drive 75 mph, how long to it take to drive from Carrington to Jamestown? (a)

Wi =

oo

g) If you fly 200mph, how long does it take to fly from Tappen to i eviIi bake? (d)

h) If you drive 65 mph, how long does it take to drive from Grand Forks to Tower City? (e)

o5

> (1.74-)



2) Solve the following proportions.
3 ad 16 14
L) it fA’:S‘] b)gz?y:BI.s“ 1A ’/V/é‘
@ 35+3/2)

S QY +3 T
D1t gy ST B2 3n7/0 -7 = 4§

3) Name the corresponding angles and the corresponding sides.
cA=20 AR ~ PE AABC~ADEF ;,zkt_
@ £B=LE AC ~ PF

cc= &k bl ~rpp
4) Draw and label two triangles using following information IS VAN
AABC~ADEF & AR = 50,BC = 30, AC = 60, DE = 65,EF =39, DF =78

3 Ao L
O b) Find the ratio of the lengths of ¢ ndmg sides from AABC to ADEF, @A‘?
(30:37)  lein/as Pz
5) What does it mean to be similar?
@ Same. %Qfg d.EL S/ze.
6) Using the triangles on the right, find FE and FD. B E—F
AABC~ADEF _8 16 m am 8
AB /\/‘M X m m
@ pco~ER 1Tm )
AC ~PF
7) Using the triangles on the right, find x. AABC~AADE
B
o5 ]
@ X q 10 t
X
c

A 9ft E 6ft ¢C

8) Morgan is standing next to a billboard sign. Morgan stands 5.5 tall and casts a shadow 3.8’
long. If the billboard is casting a 25 shadow, how tall is the sign?

S, . 5‘-

9) If you roll a dice, what is the probability that it lands on a multiple of 37

Q) 2 _ 1

A 3



Name: kﬁy 4/28/2017 PreAlgebra (5" Hour) — Test 7

1) Give the domain and range of the following relations:

) {(=5-3),(-3,-5),(2.-3),(=5,0,(0,0} D §-5,-3,623
!"'-_'-__-— T ———

b) Ri $-55-3,0%
02§ -1,-2,0 243
R‘I Z‘,f)'li 3} ‘7’}
o D: §u% 3413 £:E-S 26 49,5203
X 1 2 2 3 9 11
y -5 -2 0 5 4 20

2) For each of the relations above, state whether they are functions.
a) YL b) }/ rs c) 1o

3) Given the following equations, identify the slope and y-intercept.

a)y=-x+8 b)x =8 )y =3x+7
m= 1| m:unt/ m= Yz

4) Fill in the blanks for the definitions of slope:
rise change in -
un Changein X Xy = )

t




5) Write the following in SLOPE-Intercept form.

a)12x +2y =4 b) —9x — 3y =12
1t ~1dy 49 4y fy:: —Sx-~y /

..._.--——""""'"'“

W | 3y =K #2
2 ~3 Y
6) For each function, determine whether the given points are solutions.
ayy=—-2x+3;(1,0) byy=5x—7;(1,-2)
et
o=-2(t)+3 -22 §(1)-7 s,

7) Given the following points, find the equation of the line that passes through each pair of points.

1,2)&(3,-2 b) (0,3) & (—4,0)" - -
a) (-1,2) &(3,-2) Dms= "f"' ) (0,3) & ( 3) .?) m,% 3{%.?*3?
A P2y U 3) 32 200) +

W] an b b 3=,
8) There are now two special points we can use to graph lines. They are of the form of (0, y) and (x, 0).
What are their names? Be specific! ’ [_)

y_'}‘ 'w:'/wl X—';"Q%

9) Find the x- and y- 1ntercept of the followmg

a) 4x + 6y = 12 | b) 2y — 10x = 20
: (e @
Y% =12 Cy"ll l)’ =X6 “Wx=24 v “5
=g ~2 |0 —2,0)

X=3
10) For the given graphs, write the equation of the line in y = mx -+ b form. .

n| .o 1 \‘: N R I T bl LS e DO : ///
‘_ I ﬂf Ak
K ] Fon,

— A F<:annnk

T b 0 I Y .

__ | - T /{_ - ; RN RN

-6



Name: K €
11312007 7 4
PreAlgebra Quiz 13(5™ hour)

1) Fill in the blanks for the LCM and GCF chart:

. tcm GCF
A)Keep ol the bases and the h;gﬁ- g5l exponents.
B) ]Cg\ Cl}ﬂﬁ all the terms and numbers.
C) Keep only the common g ¢ ¢ and the lowr cF
exponents.
d) What does GCF stand for? G- eatest  (ommon Lotz
¢) What does LCM stand for? [¢asi Commig  munl tiple
2) Write the fraction in simplest form. Show all your work! _
28 /"‘f.f." i 12 L{
a) 5 [ by -—7-
g/

3) Write the fraction in simplest form. Show all your work! o

a) Baxtt Lj)(ﬁ’ b) o2 y3 & (86X

18x3 LI 246xy® ,1{67 &
3 !

4) What does IRS stand for? it na [ vevtoue Seiicy.

5) Match the following forms with their definitions

. W2 A. form used by employees to inform employers of exemptions
% w-4 B. form used to report income to the state

1040 C. form used by employers to report income paid to an employee
£ ND-1 D. form used to report income to the IRS

6) Write the fractions in simplest form. Test whether they are equivalent.
9 26 ' 4 oy
EE NS, DI

2 48 <

i

i

% ’;“f 6




Narne: ik?y’
1/20/201
PreAlgebra Quiz A]}?(—S”' hour)

lg=23"
}% S \the LCDw determme whlch fraction is greater, ¢ Y 3~7
N 23 1o =2 19
?) 204610 3;; 2. 13 ‘QW ‘?3‘|* 2-3%7 = (2e
ERE ‘féa L
2) Find the LCM of the numbers. CTARAY:
a) 24,20 2Y=27%3 b) 28,36 S
) 20 = ){Lz-}h . I ) 25 =2 Z
57552/ 20) _Fe=2As |
3) Find the LCM of the monomxals 2*33 - o )
a) 8x,18x? g =23 x |b) 24x3,32x2

292735

x l"'!

L;E_‘:,,__);.?_T.—i 2 .7‘2 3)__—.25:5}/2’3‘)(?:-' -
273 x x* ,,

4) Product Rule: When multiplying with the same @ , you keep the base and
the €X furttts

Negative Exponent Rule: When an exponent is negative, you have to _ 32~ gjm'q{the base to make it
positive. .

Zero Exponent Rule: Anything with an exponent of zero is [ .

5) Multiply/divide the following expressions.

a) 5x2% « 3x78 i b) x° /
-5
6) Multiply/divide the following expressions.
a) 2x% * 6x14 _ b) 4x7y3 = 9x2%y>
:'\ 23
BNSY

T ¥
EQX/



Name: ’C‘é'-/
112772017 [/
PreAlgebra Quiz 16 (5™ hour)

1) Fill in the blank.

a) Quotient Rule: When dividing with the same

i Atz

b) Product Rule: When multiplying with the same

the eg}/&'ﬂmﬁ' ;

bse

, You keep the base and S b Bef the

_ald

bu s , you keep the base and

¢) “Power to a power, you sl ,‘g,[ /. the exponents”
£

[

2) Fill in the blank.

a) if you do not see an exponent on the base, then you assume it is [

b} Zere Exponent Rule: Anything with an exponent of zero is

(Think x%)
|

c) Negative Exponent Rule: When an exponent is negative, you have to ¢ "a’i:- rrcafe the base to make

it positive.

3) Multiply/divide the following expressions.

a) 2x~% = px~1* i

x"
4) Multiply/divide the following expressions.
5x°yS 3 x?
a) 2 x4yg g’) yq

5) Multiply/divide the following expressions.

a) 2x° * 9x 3

6) Multiply/divide the follow)ing expressions.
f

a) (4x~%y®)73 X

4y

i3

b) 4x%y® = 3x2 (,,1;(‘)’,3
by By 22X
)4x‘7y‘3 }/)\_
b) 14° )
b} (xsy_B)S v
X

),w__



Name: K €if
2/92017 /7
PreAlgebra Quiz 17 (5™ hour)

1) Fill in the blanks for the questions you should ask/answer yourself when converting units.
1) Where are you __ go+by ?
2) Where are you _Stu Fele ?
3)  Wus  are you going to get there?
a) Which oneis _ 4. go~ 7 (*always getsa __| )
b) The smaller one gets the  tF on the line.

2) Give the name gr abbreviation of the following units.
a)dJ jf’.c,i 'youle b) km ko ene e

¢) microsecond A5 d) millijoule ., J

3) Write the following numbers in scientific notation.

8) 0.00462 4] xii” 0) 64000 /s

4) Write the following numbers in standard form.

) 489 410° oy b)3.12+107°  nyiy

5) Multiply/divide the following numbers. Write your answer in scientific notation.

2) (856 107°)(329¢10%) 3.69+10° N I
¢ 2,16 X 24 = 3, gtéxm b)s.ga*w-s CSYE T AL .
N Iyil* G,J_x?maﬂ”
6) One Step Conversmns |
a)_Q.DJ%%‘th #) _ b) 445 s to ms
brio” = TA3xor
l | K7

I



Name: l}t;’;y 2/17/2017 PreAlgebra (5" Hour) Quiz 18

1) Fill in the bianks for the questions you should ask/answer yourself when converting units.
I} Where are you jin ?
2) Where are you 57‘6:/-{-;};2 ?

3) _Hpwr __ are you going to get there?
a) Which one is _Viyv ? (*always gets a ! )
b) The smaller one gets the numbes  on the line.

2) Give the name or abbreviation of the following units. ) .
a) mg m;l{/,:@/‘w}m I b) hL hf—f‘/‘liﬂ {Jx:}i{./'

c) picowatt F‘W" | d) centimeter  ,,, .

3) Two Step Conversions _
a) 936800 dm to Mm _ 9265 ¥(0 el

, 4 ¢
m) | #n| b)587.0 Mgtopg 3787/ xe* M) (0°, 110 4,
oLl /ey

_ ____,_-vb) 263500 weeks t@‘
= Iv 7?3 sal { I weeky = f.z 5’?5‘&’{05‘:{{
C%.

e T
5) Multiply/ i%fde the foilowﬁlg‘z{]umbers. Tite your answer in scientific notation.
a) (7.54 = 1072)(3.45 = 10%) b) 7.65+1072 - ¢
' i 4 X & -
D, 6ol xi0¥ 5.67+10 l, 379 x o

6) One Steop onversions
X( jm j b) 9368 m to Mm
. Xl "¢ '
P ? A X(C?) n/
T3y [ L,

a)15.2°ug ig
' (Mo

(G ©




Name: KQ;{ 31312017 PreAlgebra (5% Hour) Quiz 19

1} Solve the following proportions. Show your work!
5 x . -
|b)g 110 S-to = :@

a)ﬁ i3-#0 768 = 110

3

2} McKenna buys six pencils for $8. How many pencils can she buy for $207?

£ _ X
Y K218 penciys,
3) Mr. Peterson 1s going on a vacation. He is going to drive 4500 miles around North Dakota. During his
first 3 days driving, he went 1500 miles. If he drives at that same rate, how many days will it take him to

make the entire trip? Yoo (oo
7 = T ¥=q Q"y s,
4) Solve the following proportions.
)= S 4, -5 b5=5 39-7 =2l +7
X=22 X 320

b

5) Name the corresponding angles and the corresponding sides.
AABC~ADEF ‘_,:‘4 ey AR ~-pg
LB =B ACaOF

6) What does it mean to be similar? <l = zfF Be ~ep

Same Shype dte S22



Name: K«‘:‘y 3/10/2017 PreAlgebra (5" Hour) Quiz 20

1} Solve the following proportions.

¥ ygms)= g7 =2 g (e-5)3 752

56 x+5 x-5 23

Ydx +J4s=C7A. Yex-27=78A.

(-2

2) Given the scale of a map is: 1cm: 4miles find the equivalent lengths for either the map or actual.
a) 2.5cm 1 a.s b) 2.5miles )X

i

3) Christian is standing next to the building. Christian stands 6’ tall and casts a shadow 4.5” long. If the

building is casting a 75" shadow, how tall is the building? I'4 X —
'!f:_';:' = 74 Xz [ofr

IFENYZ:
4) Above is my neighbor’s house. Use the scale in the corner to determine how much fence would be
needed to fence in my neighbor so he cannot escape. Assume you are only putting one strand of barb

wire around for now. T+ 2S5 3. + 3.9+ 1.5+ ?;72)2 g (4 _ 279
S T T

b) How many miles of wire do you need if you put 3 strands of around? - _
3504-£H, A2 2L g

¢) If each rolls comes with Y2 mile of wire, how many rolls do you need?

2

d) If each roll costs you $50, how much do you pay?

 bise



Name: feo/ 3/16/2017 PreAlgebra (5" Hour) Quiz 21
/

1) Mr. Peterson has 4 pairs of socks, 2 pairs of shoes, 3 shirts, and 5 pairs of pants. How many different

wardrobes can he make from these?
eo2-3.8° 120 olipiag.

2) If you roll a dice, what is the probability that you will get a multiple of 37
% ~ 3
3) If you roll a dice and flip a coin, what is the probability that you rolf a 2 and flip a head?
Ao L L i
4) Will is hunting ducks. He has 3 different shotguns to choose from and 2 different shells for each.
a) Make a tree diagram for his weapon of choice.

b} How many different combinations does he have to choose from? < 4 ;3‘
Bonus: What 3 type of shotgun might he have? 2

20 ?Qq,é :@ 52. <

{ X yczufg "i "{0 _S-J. <

5) Write 3 of your own probability problems and solve them yourself.

a) Make a spinner problem

b) Make a dice problem.

¢) Create your own story.
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Name: Kn/
v

1)} Find the domain and range of the following.
a) {('5: '3): {'Sx '5), (21 ‘3}; {'5: 0}1 (0; 0)} b)

D: 55,5 a2}

f)‘:f“?f‘?zﬁ?

2) For the sets of data above,
a) Represent them as a table.
b) Are they functions?

2
3) For each function, determine whgher the given points are solutions.
a)y =8x+3;(0,3) Yes byy=—-x-7;(52)

3=g(0)+3 A==(s)-7
=-12 (/I/o;

3=3
4) From function notation, how do you say the function notation of *f (x}"?

+ of x

5) Find the x and y interc gt_sof the following graphs.
» AR L 10T o
........ T P A W ] B R S H B //

TN :
e ) e 7 e e e
- ! N 3 - :
. i 2 el
: e |- A 3 B
.‘E‘ . i ,.....?i‘;_ ‘__:.
i =10y
der [l
K-inker: (-1,0)

X=inter: (30)
y,“nw - (:0} L)
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* [

1) Find the x- and y- intercept of the following

&
a)y =8x+3 1% C";}) |b)y—x=-—-7 57}.2;%
= S
S H (49 7(e e,
2) There are now two special points we can use to graph lines. They are of the form of (0,y) and (x, 0).
What are their names? Be specific! ) '
J-*?{.VC(}/+
3) For each function, determine whether the given points are solutions,
a)y = 5x + 3: (1,3) | b)y = 2x = 7; (5,3)
3= 5() F3 2220577 /sq,
3= X /et c‘f}a/,j 3=y -7
=i S
4) Find the x- and y- intercept of the following
a) 2x + 3y = 12 x- (0.9 [b) Sy —4x = 20
3y=l) 2x=2 § 2y s
5 (69) Sy =20 x =00

5) Find lhe X and y 111terce ts of the followmg

2|

raphs .

)—7 e s o Y Y 75 = (0‘,)

> 4 O QPR U [ R Y N N

s
l
ST —
]
g
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1) Find the x- and y- intercept of the fo]]owmg

a)y=2x+4 ,0) |b)y +x=-5 (c}w:r)
ST 9»;‘*"’ (f/ ‘f) (~$0)

2) Fill in the blanks for the definitions of slope:

rise  change in ) )’A -1

lope = —— :
Siope = /"u,q changein X Xy — X

3) Gté' ;n the fgl]owing pairs of points, calculate the slope. mr answer in fraction form.
a) (2,3) & (4,~5) | b) (—1,0) & (3,10)
~_ )

_5___3___. 5!47’5{-7 / -0 = o _5:
o - =% 3.t=y 2
4) Find to pmnts that are on the following lines. Then find the slope of the lines.
ay2x + 3y =12 b) S5y —4x =20 ._‘(_?_r___“

tf AFYQ': :E*“g? /?’7&2;, =

5) Find the slope of the following lines.

o
NAYE
Wi e T 4 —4 . §2
- \\
.._‘a - . B \
. A
it
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4

~7Sleye
1) For the equation of a line y = mx + b. What is the m and the b?
L-;/.q,wk/cgfpf—.
2) Fill in the blanks for the definitions of slope:

rise changein Y Vo h

ﬁ;-,q - changein X Xy = X

slope =

3) Given the following information, write the equation of the line.

a) slope = —2 and y-intercept = 1 | b) slope = 0 and y-intercept = —2
)/:-;x+,; Y Z0X =2
y="2
4) Find two points that are on the following lines. Then, find the slope of the lines.
a) 4x — 6y = 12 | b) 2y + 10x = 20

ngm ZQE / :Ki}_,!{_ Rah .@
.._1 3
3o 2 ga(o -

5) For the given graphs, write the equation of the line in y = mx + b form.
SN NN ey L . e i 1 _

® -
o [ PR PO (PO UM A1
1 o

6) Graph the 1t




